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%
R @ Rrenamey 7 opip DEVELOPMENT AND pep ), 0oy
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Direction : Answer the fnlwﬂuﬁtmns < EEIEcﬁng the mns?appmpriate op

Wft
(4) FawE A

3. o ag g R e

(1) gt & o
(2) st g A
&Wfﬁﬁﬁfﬂﬁ
(4) wiEpia

[ Level-2/5211]
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o
l. The most 'thpprupriate group of

qualities in reference of adolescent
boys and girls is

(1) Ideal, Good acljustmenh Self-
respect

(2) Abstract thinking, Reasoning,
Decisi%-making

Yo
(3) Observation, Feeling of revolt,
r"-h.

Habit ugrepetitinn
(4) Philusn%hy, Good adjustment,

Feeling of social service

2. Who experimented on 'cat with
reference to trial and error theory

of learning ?
(1) Pavlov

(2) Skinner

(3) Thorndjke
["'-_
(4) Guﬂfn%

<
3. Heredity pﬁys the greatest role in
the :
(1) Social Development
(2) Spiritual Development
(3) Physical Develnprﬁenl
(4) Cultural Development

P.T.0.
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(1) e v
)ﬁ?ﬂlﬂﬁﬁﬂfﬂ"ﬂm@lﬁ

(3) gaa Hfafsrar ferd

(4) YaH T

7. ‘;famm'%waﬂqgmwmtﬁ
T @ o qedl 81" SRR @

(1) T A (@) T
(3) famt &l 4) T 3

8. Gl & GO U9 HIEA &g
ofiqes Jead [y & gfques e
ac
(1) 9rgg
(3) sifgad

[Level-2 /5211 ]

(2) I A
(4) T

4, WHi

o of they following 1s not a

. Ve rn:'eﬂhod of personality
rojec 3
ementﬁ
<!

) Assogiaticfﬁ technique

? Construction technique
(3) Case St
(4) completion technique

o) .
Who Was lh{g exponent of the

method of Insght learning ?

(1) Thorndikey (2) Kohler

(3) Davis (4) Skinner

w,earning takes place through a
process of need reduction.” The
learning theory related to the

statement 15 :

(1) Insight theory
(2) Operant conditioned theory

(3) Conditioned response theory
(4) Reinforcement theory

. "Any thing can be taught at any stage

of development." Expressed by :
Ty
(1) Ausubel f*r: (2) Bruner

(3) Piaget i‘: (4) Gagne
0

. Who postulated the Brain Storming

Method for fostering and boosting
creativity ?
(1) Myres

(3) Osborn

(2) Torance

(4) Gordon

|

|
§
.'
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10. & TR&EG FHeEd

a7 o awd Dol W
(2) g4 HU<

(3) FE 9T S TGl
(4) T TEH B U SEHE

od?
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9.

10,

11.

12,

[S/D)

Plateau in the leammg Curva

Indicates :

- are
(1) Working condition®

favourable
(2) No fatigue
(3) Task is simple

(4) Loss of interest

According to a traditional sayingd:
'when the fox could not reach the
grapes despite: all it's efforts, 1t
said that the grapes are sour.’ This

is an example of :
(1) Withdrawal

(2) Rationalization

(3) Projection .

(4) Regression

Conditioned Response Theory
given by :

(1) Pavlov (2) Skinner

(3) Thorndike (4) Kohler

............ is not necessary for the
education of visually impaired

students.

(1) Books in small letters

(2) Audio cassette

(3) Brail text material on the paper

(4) Abacus  for
Mathematics

teaching of

PaT. Q.
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13. 997 [queal &1 g9y ® o

(1) AFYS 7 g9 & fog

(2) Al A & for

@R st A @ fe
()

(4) GH G & (o

14. WHEH # gl g faeid @
(1) o i
(m%-aaﬁaafﬁg

(3) Br-smar faeE
(4) Fga faerd

15. <faqd & i & 4999 ©

(4) faw F et d

16. H&l & oM9sdHdl TeIHT i @

TR, ad @ @l 999 SERd
WSWWTF@%:
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ncept of reformatory schoo] ~
13. The concep ”
is :

(1) for mentally retarded children
(2) for gifted children

(3) for juvenile delinquent

children

(4) for normal children

14. Theory of Intelligence given by

Spearman 1S :

(1) One factor theory
(2) Two factor theory
(3) Three factor theory |

(4) Multi-factor theory

15. Tolman's theory related to :

(1) Energy system
(2) Cathexes
(3) Topology
/WDTa?e/l/capment stages
16. According to the need hierarchy

theory of Maslow, basic need at
bottom level's is considered :

(1) Belongingness
(2) Physiological Need
(3) Self-Actualization

(4) Security

G Scanned with OKEN Scanner



(4) 9% IN F el @ W A A
STETHCT U8 STt 2

18. e 7 R R fe oifrm :
(1) ST el @ HeY €

@) iR ¥ AR A @
TRhIoT &1
(3) UF WIEW Argfess Ty el
(4Tt aRfRfy @ SRl @
19. ‘Fiaf ghe’ & aad gaRd
LI |
(1) 9 MaHT [
(2), 99 AT a1 GeX A &
OIECER R
(4) THA &
20, .eeirinnnns & oEr e

S

gt & WD Raw 3 frgia B
IR 2
(1) S
(2) TREETT
A3y Tl T
(4) UgETg @ieTd

oY
[ Level-2 /5211 ] ifﬁ

D4977

R .

17. Agraphia is :

(1) In this the patient loses the
ability to read.

(2) In this the patient does not
have the ability to express his
thoughts in writing.

(3) In this the patient does not
have the ability to do simple
addition and subtraction.

(4) In this the patient is found to be
unable to name the objects.

18. Kohler proved that learning is :

(1) bonding of stimulus and
responses.

(2) the perception of different part
of situation.

(3) an autonomous random activity.

(4) the whole situation perception.

19. The concept of ‘'emotional
intelligence' was given by :

(1) Dan Golman

(2) Peter Salovay and John Mayer
(3) Tolman

(4) Terman

20. Following are the stages of
Kohlberg's theory except ......... :

(1) Conventional

(2) Pre-conventional

(3) Sensori Motor

(4) Post-conventional

PSTHO,
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(B HET FHEE § wers

(LdeT o Rafy Refy &
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21.

22,

23.

"The development of child startg
from the head and moves towardg
the feet." The given statement jg

related to  which theory of
development ? t
(1) Principle  of Development
Direction I
Sequence |
(3) Principle of Continuous |
Development E

(4) Principle of Interrelation

Which 1s nof an appropriate
statement regarding learning ?

(1) Learning is universal process.

(2) Learning is not the change in
behaviour.

(3) Learning helps in adjustment.

(4) Leam'ing 1S transferable from
- Oneésituation to another.

':I‘eacher needs to Create an
Inclusive environment in the
classrnnm:

(1) specia] children should be

kept aWay from educational
aClivities.

2 .

(2) the rights and dignity of

SPecial children should be
pmtected.

3 i
()Spe.mal children should pe

Ak
Onsidereq as Inferior tgo
Norma] children.

(4) Specia]

lookeg
nﬂrmal St

children should pe

down upon among
Udents.
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24, e & ogER, @ awae SO
%

(1) 0¥ 294 T

2) 79 1198 T

(3) 119 1239 &

(4) 1299 ¥ IR T
25. TG U WG qEHT A A H

@ 2

(1) T fawat & i @

(2) Faa AR ¥ F THT 9

SR GERERCERE

Waﬂﬁméﬁ%ﬁm%

T @

26. ‘3T B B BN A a7 FB & vy
59 T8 & [ 9% T8 T qaa)”

W A A IR e 3 Ry fraw
gad e ?

Wﬁwa

2) e & fam
(3) IFHE & fgm 3

ORLCERGEEE:
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24. According

26.

A

[9/D]

to Piaget, concrete

operational stage is :
? (@)

N
(1) Oto 2 years

| ™
WMS

(3) 11to 12 years

(4) above 12 years

. In continuous and comprehensive

evaluation, 'comprehensive' means :

(1) by eval&ation of all subjects

I
(2) by Eﬁraluatinn of only
educatfohal field
&

(3) by homework evaluation

(4) by evaluating the development

of educational

and CO-

educational field

"You can make a student to sit in
the class ﬂ.\t can't f_urce him to
acquire knﬁvledge.“ This statement

is cunfirrr@d by which law of
learning ? A

(1) by the law of Readiness
(2) by the law of Exercise
(3) by the law of Disuse

(4) by the law of Effect

.Ill_.l'l-

2 TLIQ).
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30. Wﬁrwﬁqlfﬁdchrfﬁrmﬁﬁﬁﬁaﬂg
75 79 (7 74 6 #E) ¥ SaH s

21.

28.

29.

30.

”

|

Which out of the following is the :11:_

process of arousing, sustaining and Rl

regulating actiﬁy ? Rriq

| - —
(1) Interest ~
o (o)

(2) Opinion < 3]

-
(3) Attitude

(4) Motivation

In which of the following, instinct

related

does nof match with

emotion ?
(@)

L
(1) Laughter -pAmusement

r\
(2) Self—ﬁbase@ent — Feeling of
A superiority

(38) Gregariousness — Feeling of

loneliness

(4) Repulsion - Disgust
In the following who is related to
modeling concept ?
(1) Sigmund Freud
(2) Thorndike )

l"u.
(3) Albert Bangura

(@)
(4) Guilford <!

(-

The mental age of a 6 (six) years

old girl is 7.5 (seven years six

i g . months) years, her I. Q. will be -
(1) 125 (2) 90 (1) 125 (2) 90
(3) 75 vm’/ (3) 75 (4) 140
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he

v (R} wd stieh) / LANGUAGES (HIND! & ENGLIsH)
G =t (HINDI) a dm
e : P st @ e 23 @ 0 S50 S50 R gy

31 W—a@amﬁéaﬁﬁmﬁ 5. T w@ g9 fe @ gfe #
Reeg g : 2 T Fae T
(1) ™ - T 5 (1) TrpBa - ST TIET
(2) JH - a4 (2) B Y TAR ael T - o
(3) THEEH - TEE (3) g - T & N JaH
(4) RFE - WP (4) qdEmTE - gdeEn & fou w@=
32. Pt & ¥ R 7ATE 36. Fog Riweg § Rew-gw @8 77 7
(1)@%61373%3%@} (1) I - e
(Z)Wnﬁazﬁaﬁ@‘f L 2) ARErE - FREEE
3) | d g A G @yt - gl
P ol ' (4) wdt - Freamd
33. o1 & @ o7 & T : 37. yod A e A g FAseq g -
(1) &, o1 - SFErEE @ (qg_jd‘fﬁ(qmqﬁ,maﬂﬁs
(2)$,$-maﬁﬁ (E)II-W,%W,W
(a)sr,ﬂ,ﬁ-mf?!l}lﬁ 8 (3) @Y - Hewl{, Fexly, gac
| (4)&,\3?1'-\315"3?& (4) @ - 9RFY, MUY, a[ad
ES )
34.ﬁwﬁﬁn%ﬁaﬁ§wmamﬂ 38. '@ g /A ogAloT @
Y o g
(1) T&IH ' (1) T - S, 9y, F
(2) fot G0 @) T - A, 2, FE
:’éﬁﬁ?mﬁm | (3) T - gs, B, o
(4) e ﬁ (4) AW - JTAW, TEH, TR
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39. Wﬁwgﬁﬁ %Wﬂﬁ@ﬂwgﬁrﬂﬂrm
(1) “Eﬂﬁﬁ‘ﬁaﬁﬁm-mﬁa 0y Jrd F e g A il
(2) TIH-yEfm ad, REd g g 2 op ood o Bougw F @A Eix ko]
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40. B9 9= F ‘F I B FE 75 ;ﬁﬁmm j:;q;raga,w?w
g & 7 g & 89 HIFAIET STeRY WGTEHT
(1) Fo (2)% i Thd &, 99 91 FI?B%\%l
(3) FEreT (4) FAf
43. M%mﬁmﬁm G
41. F9Yd ME 9= A - Ao
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(1) 739 & @H e, 999 F Y (2) gl FA & g
gal (3) " g9 &1 deyr |ffed 8l
(2) A ¥ I o, ST e (4) ©E F ATA TN

(3) 7Y A IGH, ATH F @ @
(4) 799 F YA, TS 9 GEY @A 44. TEF D AFAR F] T Pl F7 7

Ciry . ®7?
(Uﬂﬁamﬁ'ﬂaﬂecmm
42. 9 9 FI g F §77 ey g (2) I F 99 ¥ yug; @
(1) STERHN = SR + SR @ﬁﬁgﬁﬁwaﬁmm
(2)':r§w-trﬁ+m AL LY S
(3) aftaesr = Iy + g (4) & TG STy
Wy TR = Tl + T | =
45. TN H UgR T B A
st : (999 &M 43 @ 45) & TW =T & Wt F o U g
HYITAGT T Bl IGHT T (1) Ui - & Iuad
g4 39 9 cblﬂqwﬁw%g@'ﬂ% (2) AT - Afcrarads e
~ smﬁgwwzﬁtlltchwdl qvl?ﬂ G’(ﬁ ((w__@lgﬁ E'F&T:}
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(o)

Direction : Answer the following questions by Selecting the most f#Ppropriate option.

46. Fill in the blank with the correct
option :

Stress, intonation and rhythm can
be taught through ......coceeeeeee .

(1) skimming
(2) scanning
(3) drills of various types

(4) transcription

47. Which one of the following is not a
teaching aid in developing
listening skills ?

| (1) Use of phonetic dictionary
(2) Gramophones

(3) Television

(4) Film & film strips

48. Fill in the blank with the correct

option :

Multimedia materials for teaching

ATC ...ivvenanannens .

(1) LSRW lesson
(2) grammar, syntax and lexicon

(3) text, 1mage, audio, video and

animation
(4) phonetic, phonemic lessons

[ Level-2 /5211 ]
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49, Complete 'gle sentence with the

correct option:

Multilinguistic resource ............. .

w'wﬂr increase the level of

learner participation

(2) will decrease the level of

learner participation

(3) 1s pngg compared to any
standa{ﬁized text-book

(@)

(4) deprives the teacher's role as a
P o2
facilitator

Direction : (Q. No. 50 to 59) :

Read the following passage and answer
the questions that follow :

I worked for a brief while in a
college in Delhi, and among my more

uncomfortable memories i1s a language

exercise, I gaye a group of eight

undergraduates: [_L!:asked them to imagine

that they had geady graduated . and
wanted them to wgrite an application for a
suitable job. Sevré% of the eight students
wrote applications for the jobs of clerks.
Even in one of the good universities, and
in a college that had a reputation for 1its
academic standards, the system had

snuffed out all youthful ambition.

P.2Ts0.
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Even the highest youthful ambition ,
the prestigious colleges is t0 pass tha
competitive examination for appointments
In the administrative services, and there
are colleges that are more proud of the
bureaucrats among their alumni than of
any scholars, scientists or leaders of
opinion. And these latter, understandably,
are a small number. Students derive the
meanness of their ambitions from the
meanness of the goals that the colleges
propose to themselves. And of the most
ambitious, as well as of the least, among
the students, it could be said that they
think more of what society will do fo or for
them, than of what they would be able to
do for and to society. This is an excellent
apprenticeship for joining the Iéﬂlts of
hirelings or of the unemployed. |

50. How long did the author work in a
Delhi College ?
(1) long time v:(ﬂt;rt time
(3) three years (4) seven years

51. What exercise did the author give
the students ?

(1) a comprehension passage

(2) precis writing -
(3) expansion of a poem %

a language exercise

Level-2/5211 ]

A3

i

o=l
52. Seven out of the eight students

wanted to become .......cooeeeee :

(1) scholars

(2) bureaucrats

Mrks N
L)

(4) scientistsi™

I"--.

o)

q' =
53. What accordiny to the author is the

highest ambition of students n
good colleges ?
) to qualify for administrative

services
@)}

(2) to bECDl’l‘{Qleaders of opinion
™~

(3) toteach O
ak

=)
(4) to practice medicine

In the sentence "And these latter
understandably are a small

number", what does "these latter"

N
referto ? e

f*-.
(1) clerks, d@tors & engineers

f <
(2) bureaucrals, scholars and

clerks

(3) scholars, scientists and leaders

of opinion

(4) only administrators

(¥ Scanned with OKEN Scanner

For Study Material PDF& Notes Join Telegram Channel - @EXAMZY



55. Fill in the blank with the correct

option :
The thinking of the mlr:;s_t ambitious

—_

and the least ambitious 1S «««++==+* :
(1) uncommon

(2) alike

(3) dissimilar

A (4) for the society

56. entify the statement which 1s

e:
(1) The college where the author
worked in Delhi had a
reputation for its academic

standards.

(2) The students,. who were asked

to do the language exercise

were graduates.

(3) All colleges produce scientists,
scholars and leaders of

) opinion.
(4) The language

stored In the author's less

exercise 1is

comfortable memories.

ﬁﬁ [15/D]

o)

Fill in the b]brl:i’lk with the correct
‘option: [~
oY |

- Another wnr%’ for "snuffed out"

|- H T Ty .

(1) smelled (2) instilled

(3). .encouraged }Md

58. Choose the opposite of "former"
from the pass%e

[“'- &Ej’rtter

" D"t
(3) already <t (4) mnst
CJ .

(1) least

!

99. Fill in the blank with the correct
Y/ option :

™

-TAlumni" n the passage

EMNEANS tovvvvrivnnenn .

(1) unsuccessful students
- (2) successful students

~ (3) bureaucrats

W students

N
Ny

6{] Whlch one of t[Eh.\e following is the first
~ stepin teachm%}fnrmal grammar ?

| (1) compansga & generalization

(2) collection and presentation of
examples

(3) application of rules

Matiun and

previous knowledge

testing of

[ Level-2 /5211 ]
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qr- 1/ PART =1l

g 31T / GENERAL STUDIES
A AT, Tl SARETar o gy ST ud ey / quantitative Aptitude, Reasonin,

Ability and G. K. & Awareness ?}
m:mnaﬁ%wﬁ%mwwww| r~
Direction : Answer the fnllnwjng questions by selecting the most aﬁrnpriate option.
- 5
(lﬁ}q_[zl)q = (13}‘ (21)* |
4 '3 4) \3 |
61. Y- IEWWW%: 61. The square root of a\E 7
1~ | -[2= —| -|2=
(2] -(=3) 2] -(=3)
Lt A s equal o
11 \ 11 ,
) 2]2 {\E-A (I)ZTE !
@)
1
(@) &> k\(}‘{h @ 2= o~
12 ~ |
11 f\,\a\ = 1
(3) 3% VWA 7 2 @ 3l A |
12 ~ q 12
1 1o
(4) 3 %
T / (4) 312
62. X Th P & 6 T H qof o g 62. X can do a work in 6 days and Y
AR Y 3 ¥4 &t 8 7 & qof &% can do same work in 8 days. With
&l 8l Z P HerIdr ¥ il Pee the help of Z, all three finished the
_ O)
T FY @l 3 e # ‘f"f H ad &l work in 3 days. If they altogether
gk diH B Fw 2000 TR FH got Rs. 2000 rafter completing the
Hq'ﬁq‘{‘”tqg'alfﬂ'ZWW%: wark,thenZg%ts:
a
(1) 200 &9 (1) Rs. 200
(2)4250 TW f:.i (2) Rs. 250 |
(3) 400 &9 ' (3) Rs. 400
|
(4) 500 TG (4) Rs. 500 :

J0 R
[ Level-2 /5211 ] m
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63. STIT B I HRA
@)
1) s O
-
(2) & o
A
(3) 89
(4) Byt

64. TF I H 153 o) § dom W T
IR B 10% = gy @ & 20%
T G FAG A I R T

i = ey 2 7
(2) 214 qu‘_;

(3) 220 9 )/j\/fi
(4) 170 97

65. A, B, C, D 3iX E TF JUHK A &
¢l E 3R B & 9 4w A 8 D, B
%Wﬂﬁ?%icﬁwaﬁ

AN FH & ? O

L=

(1) E G

M
2) D
. @3) B
4) A

[ Level-2/5211 ] ﬁ
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53. Find the odd one :
(1) 'Rectangle
(2) Square

(3) Cube

/G‘E)/Tri angle

64. By selling an item for Rs. 153, a
man gets loss of 10%. For how
much should he sell t.hem to get
profit of 20% ?

$\ Y (1) Rs. 204 n =
W‘fif“ 1A g
?—" (2) Rs. 214 (A
2 3
ﬁ/'f (3) Rs. 220 ﬁ,rﬁ “
(4) Rs. 170 = | g
| ” g

1, B, C, D and E are sitting around
/4 circular table facing the centre.
énly A 1s between E and B. D is to
the immediate left of B. Who is to

the immediate left of C ? ”E\f N 7900
-

(2) D )
b ES
(4) A

2.59 P.T.O
1o
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66. W ITT Rar F ok 10 MY sy
T.:fi‘rr(aﬂaf@rtrrfa‘mﬁeﬁ?sﬁm
ENGIR W gl R # g,
arﬂ?{ﬂﬁm%raaamﬁmﬁmsfa—.ﬁ
@ org e gw @ 2

N

(1) 7 Hiex L) (2) 6 Hiew
Mﬁm o (4) 4 "X

<

67. ﬁﬁﬂ@%ﬂﬁzﬁrmwm:
S
L

5,6,9, 15, 25 ?
\J\“hﬁt L Y
(1) 35373 ~(2) 31

5

40 (4) 41

R -
PHH-AI o LT g ?

9)/ (2) I '
@) N (4) R ’@

U69. P) Q #F gy 2 R,Qﬂ-ﬁqlﬂi\ﬁ,s@ 69,

R & MUAM & T, S % A6 &1 P, S

'WWH’E%HH%? ”f
r~ -)

(1) Th Sy P Q

e 2 B

(3) 2T

(4) e

[ Level-2/5211 ]
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66. Shekhar walks 10 metres towards
North. Then he walks 6 metreg
towards South. Then he walks
3 metres towards East. How far is

he from his starting point ?

(1) 7 metres (2) 6 metres

MBS (4) 4 metres

67. Next term of the fnllnwing number

series will be :

5 6,9, 15,25 7
(1) 35 (2) 37
~.(3) 40 (4) 41.

68. If the.‘ letters  in the word
| CYBERNETICS are rearranged in
the alphabetical which
letter will be in the middle in order

order,

after rearrangement ?

[k

(3) N

(@) 1
(4) R

P is Q's sister. R is Q's mother. S is

R's father. T is S's mother. How is P
related to S ?

(1) Daughter

(2) Sister

(3) Grandmother

(¥ Scanned with OKEN Scanner
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10.

11.

12.

13.

;Lw ‘3‘*\ l’ m

gfe ZIP = 300 3R ZAN = 400 &, @
70O =

N
(1) 250 [~ (2) 350
[‘\.
(3) 200 2 (4) 500
()
et gt ot & g 9% s i

AYD, BVF, DRH, ?, KGL
(1) FM]

(2) GM]
(3) GN] (4) FNK
e FF 9 %@TF!T g (W @l

%lﬁmﬂaﬁm%m A
drsr & B D 7R @ A o
¥ O AR F g wed @

BT E ? \
. ) I*) c S
(1) g™ _ @ L \\)&}
@ s \\7)
@™ @
\ 3
(4) FHA /\C\

[19/D]

0. 1f 71p = 300 and ZAN = 400, then

200 =
(1) 250 (2) 350
(3) 200 (4) 500

Il. Find the missing term in the

following letter series
( '). ( ’3 mjh

AYD, BVF, DRH'? KGL
. 2 3
(3) GNJ (4) FNK o

I2. Sachin is shorter than Kamal, but
taller than Ram. Mohan is the
 tallest. Arun is a little shorter than
Kamal and a little taller than

Sachin. Who 1s the second tallest
among these five persons ?

(1) Sachin

0 ?'} ”
(2) Arun \)\ 7L T\
=

13. The diameter of a sphere whose

g B l__f: volume is 113l cubic metres is :
O) ! A ”7
(1) 3T g Tres 3 metres /e\:b - A
(2) 64X C\y’ [ CRNET
— \ M (2) 6 metres [ ]
3) 7Hex C b~ ‘y\ 2
(3) (3) 7 metres
(4) 144X (4) 14 metres \ dl I«
[Level-2/5211] .. )
9 [ K g X é P. T. Q.
4 AIFL
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=T

i

74. R WEWHR T H AR 28 o 3 74. 1f the diameter of a right circular

GWW'WZUW% E-ﬁzg-[

UG A% aiEl &

(1) 1760 TH?
(2) 1232 A
(3) 1496 HH}
(4) 2992 @Tﬁz

15. wwagﬁamqﬁmszatﬁa,
I 3% & R A T=E 24 S

D497759

equal to !

8, A TEgS & A5wd awER b

(1) 240 "
(2) 120 {4
(3) 180 Y
(4) 90 T’

16. UF GAgEA 9 @ B ol S &

D497759

5§ 112 F UM Bl IR 3R AT
314fﬁ?{G% ﬂ’f%‘ﬂ%aﬂmzﬁram

(1) 109X
(2) 5Hiex
(3) 20 HeY
(4) 15 e

[ Level-2 /5211 ]

/jﬂl'fﬁﬂ cm?
(2) 1232 cm? g\/‘/
(3) 1496 cm?®

(4) 2992 cm’ 76 \

75. The perimeter of the rhombus is

(1) 240 cm’

2

(2) 120 cm
(3) 180 cm®

(4) 90 cm”

diameter of its base is equal to
(m=3.14) ;

*\\b\ (1) 10 metres
05

- O

){f\‘“ /41’ 61\\7{ (3) 20 metres
(5 Z)/X.A‘j\ (4) 18 metreg

For Study Material PDF& Notes Join Telegram Channel - @EXAMZY

cylinder is 28 cm and its height is

00 cm, then the total surface area is

)1-:!‘\7\

0% f\\w
O
g

52 cm. If one of the diagonal is 24 cm,
the area of the rhombus is equal to :

I6. The-radius and the height of right
circular cone are in the ratio § - 12.

If its volume is 314 metrea, the

/
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2 \ > !- - L2 (51/D]

77. sec (90°-A)-cot A cos (90° - A) tan (90°=4) 11. The value of K—

H AM € sec (90° — A) — cot A cos (90” - A) tan (90" — A)

s : & o

1) tan A .

(1 (1) tan A 6 N -

2) cotA
(@) (2) cotA &/g
(3) cos A

E\_} (3) cos A

(4) sinA |

( rr_: (4) sin A
o) . .

78. IR TH HAR FH SR 23 A @ I8. If the height of a tower is 243
SR SHHl B il T ”é 2 HIT %’ il metres and the length of 1ts
T{[ Bl I~ HIT I @ shadow is 2 metres, then the angle

\ ~ of elevation of sun is equal to : %
D AF3
30 (1) 30°
(2) 45° (2) 45°
™

A S P TY
(3) 60 r[_: Py (3) 60°

o o . * &
(4) 75 = g [;f ~ 824y 756

-

0% ﬂsbﬂi% N X T A 19. The least number of complete
~g-1qH e TJI[ Lo gI-r q 3ife years, in which a sum of money put
B S ? % Y at 20% compound interest will be

,Q \ = |7 more than doubled, is :

3oy 9 g Jist:

(1) 2 (2) 3 VT w2 (2) 3

L?; 0 ( L}l b (3) 4 . sl

(3) 4 ~ (4) 5 5 (4) S
r~ \ Y—’:f,, P'J"‘”

80. 11 § 50 d% fhal §&W & S 80. How many numbers from 11 to 50
7 ¥, Tﬁaz” gl & Ry 3 el are there which are exactly
T8 7 ' >’ divisible by 7 but not by 3 ?

(1) 3 /m s (1) 3 (2) 4
(3) 5 (4) 7 (3) 3 () 1

[ Level-2 /5211 ] sﬂ
0

D \1/@ 23,25, (42) L\f»)
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81. Fr=iffag & @ R 2023 &
bl e G 81. Who among the following receive,
(31{?%5'{ Arjuna Award of 2023 ? :
SR
(1) Diksk® Dagar
(2) feRsr $hme A T
: (2) Vine#ﬁ Phogat
(3) ST FA (3) BabitarKumar;
um
(4) Er 4 drI’l
e (4) Reetika Hooda
82. M=l & ¥ -a1 T
| e 8 sk il 82. Which of the following Wild Life
MEINE l_ I@EII BN Sancmaxiesislncated in Panchkula ?
(1) Bafeer srvareg 5
| | (1) Chhilchhila Sanctu
oy T RIeme ey 7
. . (2) Bir Shikargah Sanctuary
qeY '
e (3) Nah@amctuary
(4) FTTA

[~
(4) Kapag:ras Sanctuary

83, Fefofes & @ fe-ar R R i &
" R e 2 Ao 2 | 33 Which dR

the following districts
does not come under the Shivalik
Development Agency ?

(1) 3farr

' (1) Embala
2) |
(2) tﬁlﬁT L B (2) Panchkula
3 z e . "
(3) IR s (3) Yamuna Nagar

/(A)’Eg‘é%  (4) Kurukshetra

84. Rex 9T 2023-24 #
N ’Kﬁfm%: . aﬁtwa%’r‘ 84. Per Cafla Income of Haryana

during 2023-24 on constant prices is:

r'-..
(1) 825,759/ (1) 3,25,759/-
A
(2) 1,865,490/~ " (2) 1,85,490/—
(3) 1,63,286/— \. | (3) 1,63285/-
(4) 1,04,550/~ | (4) 1,04,550/

[ Level-2/5211]

of * L1
[
»
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gs, U@ wd Bitgrm gem =mmmwg # A

B5. The Chief Justice of Punjab and
=Ty §

Haryana High Courtis :
(1) =@ efs ang (1) Justice Sheel Nagu
(2) =ranfd '{E&ﬁ;{ Al (2) Justice Ravishankar Jha
(3) mﬂﬁ %El, GICE (3) Justice Ritu Bahri

(4) =gragfd @l T (4) Justice Krishna Murari
-
86. THE™M W[F Fg om@m B A @ B6. Identify the composition of Haryana

Public Service Commission :

fafea #ifaa - \,{\J\
W 09 =7 979 {\ | (1) Chairman and four members

(2) HeE W dF WS (2) Chairman and three members
(3) 1w U§ 99 §ad (3) Chairman and five members
o)) :
(4) HOE WM @5 (4) Chairman and six members
rh-..
87. W% % Eﬂ%ﬂ fr=Afafag @A # 87. Read the following statements
qfeq - E about Bhadanakas :
(A) 12df #H F & :n: THaH g (A) During 12th century they were
T F et gt NGE i TE G ruling over the area of
Gurugram & Rewari.
(B) e 0 1 B [ 6 ‘zﬁﬁ’ﬂ?‘HII 3 (B) They defeated Chauhan ruler
qufaa faan Prithvira)-lil.
Hg}zﬁg F1 T8 Eﬁlﬁq : Choose the correct code :
L
() Fad Eﬁﬂ{(ﬂ} "9 T (1) Only statement (A) is true.
(a )]
(2) Fad EEEF'FDT(H} uq B (2) Only statement (B) is true,
(3) 9 @ &4 (A) 9 & FT=T (B) (3) Netther statement (A) nor
a4 i statement (B) is true,
(4) 4 F99 79 ?: (4) Both the statements are true.
[ Level-2 /5211] s P.T.0
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88. WeMd & orgur Frekifem ¥ 3 88. As per Mahabharata, who among
=t ERE] 'Ed Sﬁﬁ 1?’7“3[ GTEFIF-T Gl the following led an expedition to
e Rr 2 O
- [~ Rohtak ?
o
(1) s g (1) Bhishma
(2) ST (2) Arjuna
(3) #™ (3) Bhim
_Mﬂﬁ 1 (4) Nakul
89. i - .ch distri o
9. BRI I Hrmﬁﬁ HEC IR H qq 89. Which district of Haryana shares its
Rt q YA ??IHT[,L@IEIT h{cl % ? boundaries with Seven districts of
l'ﬂ..
N Haryana ? |
| = Y :
(1) AGreT (1) Ambala |
(2) G (2) Panchkula
(3) Wﬂ (3) Kurukshetra
wﬁ (4) Jind
90. e H @ TRR W yH 90. The Sikh Chieftain of Ladawa who
HAA-TET g & QA ST & e fought against British during the
el : N First Anglo-Maratha war
Te
‘ =
(1) Te<ra e (2 (1) Gurdit Singh |
o {
(2) & f4E g (2) Lal Singh
: |
(3) 491 fYe (3) Bhoj Singh |
(4) 98T f4E (4) Manohar Singh l

[ Level-2 /5211 ] gﬁ
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W[ — IV / PART = [V -
fqs / SCIENCE
ﬁa‘gy:ﬁmﬁmﬁmﬁ%wﬁﬁﬁmmmﬁﬁﬁmﬂﬁw

Direction : Answer the following questions by SE]EC““Q theymost

appropriate option.

)
91, ?ﬁ:ﬁ?gﬁ 9 3J G o & HD 91, Wh}gh of the following is not the
g ? caugtive organism for Ringworm ?
(1) ATSHgRY (1) Microsporum
(2) STSHIERET (2) Trichophyton
(3) UUSHIHRe ' @Epidermnphytun.
(4) ﬁfﬁ?ﬁw (4) Macrosporum
92. ?;Eﬁ Vf:gg ::EI ;:I IWWZHZ;T%\; 92. An EEctric bulb‘is 'rated 220 V and
- i gt . g ;(]JECEV:N When it is D;:ferated c.:rn
h | bg-.&, the power c?nsumed will
(1) 100 W -—n')’ﬁo/w Y = e
(2) 15 W (2) 718 W
(3) S0 W E{_ﬁ_’f (3) SOW
(4) 25W (4) 25 W
93. U§ 45_1 kW :ﬁ?i’ 2700 ﬁﬁﬁ S<HM 93. A 45 KW motor winds a cable
F 3 Y8 § 6 WY HE T around a drum while lifting a
Jerd gﬁ UF DHad &l b g4 & =Rl 2700kg mass to a height of 6 m in
3T TUedl &1 g4 § @ ERRUES| SSE%LEE The power lost to the friction
(kW ) g (g =10 4 /3° ﬁ) (in EW) Is: (take g =10 m/sz)
(1) 5.0 (1) §10
(2) 0.5 (2) 0.5
(3) 0.8 (caru’a’
(4) 6.6 | (4) 6.6
-evel-2 /5211 ] iqh Penlin. O
il
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94.

95.

d-.. LI
m

12 39 B & Mg @R § g

Th Fe AMAR Gd & TRy iy
m%’eﬂwmosﬁ?am@
A Bl ﬂﬂfcﬁjﬁfﬁ%quﬁ
[~
@)

<!
-

() as T 5.3 i /AFvs T
(ii)mvr@ﬁﬂﬁﬁﬁmqﬁ%i

(1) @ M qRE™T R 2.3 9y
qHvs” B

727 [aheq & T FHifem -

(1) Faa (i) eﬁ; (i) W B

(2) Fad (i) HY (iii) TEI B
(3) Had (i) S (iii) & T
(4) 1 (0), (i) ST (iii) T &

9 TF G ldd D alad did &
ATqaT 21 shiAe ATGE H ST 2.63 s,
2.56 s, 2.42 s, 2.71 s 37X 2.80 s B
e ROy g iR gfaem R
AT E o

<

(1) 0.11's 4%
(2) 0.068s 3T 4%
(3) 0.068 s 3T 2.6%
(4) 0.11s 37T 2.6%

Al

[ Level-2 /5211 ]

94. An insect trapped in a circular

95.

groove With a radius of 12 cm

continuously moves along the

groove and complete 7 revolutions
in 100 s. Regarding the motion of
the insect, consider the following

statements :
(i) The linear speed is 5.3 cm/s.

(ii) Acceleration is not a constant

vector.

(iii) The magnitude of acceleration

is constant 2.3 cm/s".
Choose the correct option :
(1) Only (1) and (ii) are correct.
(2) Only (11) and (iii) are correct.
(3) Only (i) and (iii) are correct.

(4) All (1), (11) and (iii) are correct.

Ram measures the period of
oscillation of a simple pendulum.
In successive measurements, the
reading are 2.63 s, 2.56 s, 2.42 s,
2.71 s and 2.80 s. The mean
absolute error and percentage

€ITor are respectively :

(1) 0.11 sand 4%
(2) 0.068 s and 4%

(3) 0.068 s and 2.6%

(4) 0.11 sand 2.6%

(¥ Scanned with OKEN Scanner
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96. ‘AR Fy 7y qredd ©

(l)ﬂaﬁﬁ‘w‘maﬁﬁ%ﬁm%ﬂ
faﬁ‘?i%ﬂeﬁqw

A
(ZJE’@%NWWHW

(3) el Pt Sy o
(4) IRRYfoS &= @ T

97. FIGHW = Iy o g5 T I 4
THIFF R § arex P &, T

o
ORI
(2) RN

(3) 39 feig
(4) Sifftes fRpaemn (sm fhee)

98. m@mﬁ%mmﬁﬁﬂq%

[ Level-2 /5211 ]
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96. What does 'bioprospecting' refer to ?

(1) Exploring biological diversity

for new commercial products

(2) Conservation of endangered

species
(3) Genetic engineering of plants
(4) Studying ecnlﬂgicéi systems
97. The region of the vertebrate eye,

from where the optic nerve passes

out of the retina, is called the :
(1) Fovea
(2) Iris

(3) Blind spot @

—(4) Optic chiasma

98. The hormone responsible for

ovulation is :

(1) Estrogen
Mtemne

(3) Luteinizing Hormone (LH)

(4) Follicle-Stimulating Hormone

(FSH)

. T: 0.

(¥ scanned with OKEN Scanner
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99. Fe-1 H M FT-II | 9 gy
TR & Q Hﬁdﬂ(qﬁlmﬁﬁq;

[ 2

-1 BITH-11
A F-TETH TH @) Ry
fear Srem 2 e
B. HWfirgm ﬁTE}‘iﬁ ag - (i) Ry,
SO A 2| HYgES
) ST
<t
C. AgNO, ¥R & (iii) Harr
NaC! faeas & fRam TR
T AgCl H 934
AT T B
D. =i 5o # fg  (iv) e
ydied @i vﬁr el STf¥fear
L)
~
Ze - o

(1) A-(iv), B-Q), C-(i), D-(iii)
(2) A-(ii), B-(iii), C-(iv), D-(i)
(3) A-(ii), B-(iv), C-(iii), D-(i)
(4) A-(i), B-(ii), C-(iv), D-(iii)

100. ‘T 3R TP Reea Roey ¥ 2
[~

(1) 9 o
<

@) qgpr A

(3) qifean

(4) TET

[ Level-2/5211 ] . i

g9. Match Column-I with Column-yy |

and select the correct answer from
the given code :

Column-I Column-I1 :

|

A. Limestone is () Electrolysis |
heated. |

B. Magnesium wire (ii) Decomposition |

is burnt in air. Reaction s
!

C. White ppt
AgCl is formed

when A Oa 1S
adc::7}»/t; NaCl
Lj’j tion.
. Electricity 1s (iv) uble

(iii) Combination

Reaction

passed through isplacement
acidulated water. Reaction
Code :

(1) A-(@iv), B-(ii), C-(i). D—(iii)°<
(2) A-(ii), B-(iii), C-(iv), D-(i)

3 E-~(ii), B-(iv), C~(iii), D-(i)

(4) A-(i), B-(ii), c-(iﬁ), D-(iii) 0&

100. 'Jaya'and 'Ratna' are varieties of :

- (1) t |

) = a e ———— e ———

(2) Maize | }

(3) Cow-pea

(4) Rice

—
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101. 2.5 AH YR @ 47.6 IH O A 101. 2.5 g of sugar is dissolved in 47.5 g
el R S 1 ?tﬂ'zﬁ qrsdl of water. What is its concentration
g Afcera & agr @ f as percent by mass ?
(1) 5.26% (1) 5.26%
0 o (@)
(2) 5.0% | @) 5.0% O
- ~
0 0 ™~
(3) 19.0% @A90% S
e
(4) 50.0% ! (4) 50.0% ©
102. T& Hg diciepl § 9F S #rsi? %l 102.. When lead nitrate is heated In
TRH haT S B glass tube :
() fEeTages arfufpar @wg= el Bl . (i) A doulple decomposition
L)
reaction tgkes place.
o
(i) NO, @t <t u@ fadl &l (i) Brown fwmes of NO, are
- a
evolved.
(iii) 1T AfTH F 999 @AY AT T (ili) White residue is left behind in
w1 1o ] the glass tube.
(), (i) @97 (i) § ¥ HA-G1/H-8 Out of (i), (i) and (iii) which
FIT Gel g/8 7 statement(s) iEQ are correct ?
[‘ﬁ..
(1) @ad (i) T (iii) (1) (i) and (iiff Only
RFAR )
(2) Had (i) T (iii) (2) (ii) and (iii) Only
(3) FAA (ii) (3) (ii) Only
(4) ®AA (1) T Gi) (4) (i) and (ii) Only
[ Level-2 /5211 ] P.T.O.
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104. ABRAT REd g a7 AR FO g

[30/D]}

103. ﬁﬁﬁfﬁaﬁﬂﬁ?ﬂﬁa{fﬁw e

g w1 & WA B 9UE RRw o |
B TBR:

(1) afgT

2) frrogras E
(3) T

(4) A9

105. @vg # &gt & A9 R wER @
WS qrET ST & ?

(1) FHear qfy
(2) g WY
(3) Ty e

(4) UMY g Sirg

[ Level-2/5211 ]

103. Which of l&e following containg

LN
maximum ngmber of molecules ?
[‘H.

o)
(1) 1gCO, <

o
2) 1gh,

@AGH,

(4) 1gCH,

104. The prccessgin which a mixture of

heavier pﬁlicles and lighter

) iy
particles arg, separated by the
< .

~wind,is: A

(1) Threshing
(2) Winnowing

(3) Sieving

/Lﬁ/g‘dimemaﬁnn

105. Which typen of joint is found
L0
between thé{}ones of the skull ?

_ (@)
(1) Hinge jﬂglt
(2) Pivot joint

mgus joint

(4) Cartilaginous joint

Jopee
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106. e oifg YRy & oRfere SR,
AT e T fags B A

AL B
@)
Lﬁ
["-.
(1) &4, 2, 99 [~
wA
(2) 34, &4, d9| A

(3) &9, =d, FHWEH

(4) T, Z4, I

107. T 'm' & THEAH dad, M
ZEH & T WA 3= A YR
@mﬁa%mﬁm%(ﬁ

| ﬂ'mﬁﬁmgma—wﬁ%ﬁ
| f B ), & o " TeEEd

I & 9 ©
|
| J3 GMm
Wd | (1) =
l. V3 GMm ?,
| @ T r =
o)
GMm (Sh
(3) SR =
G Mm
(%) 2 R?

[ Level-2 /5211 ]
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106, Choose

1017.

[31/D]

the dispersed phase,
dispersion medium and type of
colloid, respectively in milk of

magnesia :

(1) Liquid, Solid, Gel

(2) Solid, Liquid, Sol

(3) Liquid, Liquid, Emulsion

(4) Gas, Liquid, Foam

A uniform ring of mass 'm' is lying at
a distance v3R from the center of
the sphere of mass 'M just over the
sphere (where 'R'is the radius of the
ring as well as of the sphere), then

the magnitude of the gravitational

force between them is:

\E GMm

(1) 7

'\E GMm

@) 8 R?

GMm
8R*

(3)

G Mm
2 R®

(4)

P, 1.0,

(% scanned with OKEN Scanner
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108. 9 RU T Rpedl & q Ig o
ﬂ%ﬁqﬁrﬁaqﬁr%aﬂmwwa

[32/D]

qef~rg J&7r c;:
(1) T S (2) R
(3) aw (4) TR

109. F=iaRad wo=t  fEr Hifvn -

() B F de-TRE de-AreT F =y
q ot Fd FT ghar

(ii) AC TTies H I ARG g
qeH a0 MG T F A aR Ry
EESIET I

2

7e] faeeq o Tg9 FHv

(1) 3ad (i) & &

(2) ®ad (i) TE B

(3) () & (i) T we =& &

(4) (i) 9T (i) 39T & T

110. F=ffEd & & F9-a1 Fa9 ol

gHferd 7&7 & 7

(1) @ d1g SYar foga o
ﬁmﬁrﬁm%—mﬁfsm

(2) TF 41 R Sifeqres ort qor
ma’rﬁﬁéﬁm%—ﬁzﬁ

(3) Th urg o SfiRivH @ aq
Il % g fAferg ® - s

(4) @ a5 ~awE fepdr fem
STYUSH! 39Ea ¥ arr & -

Ui

[ Level-2/5211 ]

108. From the given option choose the

one that does not belong to the |

group based on solubility :

(1) Milk <2y Honey
(3) Oil (4) Ink

109. Consider the following statements :

(i) Any dc-generator can also
function as a simple dc-motor.
(11)) The
force produced

induced ele ctromotive

In an AC
Generator reverses direction

twice per period.
Choose the correct option :
(1) Only (i) is correct.
(2) Only (ii) is correct.
(3) Both (i) 'and (ii) are incorrect.

_/gqr)fﬂ?-’tﬁ (1) and (ii) are correct.

110. Which of the following statement is
incorrectly matched ?

A metal used in joining

electric wires — Magnesium

(2) A metal whose oxide is soluble
in both acids and bases - Zinc

(3) A metal unreactive towards
OXygen and dilute acids — Gold

(4) A metal extracted by using |

electrolytic reduction —

Aluminium |
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111. T a0 R § 500 HL/HI 8 111. A long solenoid has 500 turns per

A e damw 4 AN B TN
aERET & URT 100 A/s @ 96 W@ ©
W@ F o= M R & B WA,
g gqe Brear 2 i B ®

(1) 1x107V/m
(2) 2x 10 V/m
(3) 4x 10" V/m

(4) 0.5x 10" V/m

meter and a cross sectional area
4cm”. The cuffent in its winding is
increasing at 1{51“0 A/s. The magnitude

@)
of the induced-alectric field within the

loop, if its radius is2 cm, 1s :
(1) 1x 10" V/m
(2) 2x 107 V/m

(3) 4x 107 V/m

(@)
‘—’(4)/0.5/>< 107 %/m

~
(@)
112. T 50 N (Fc'l'-'-IT qfedi 1Tl'E»D[) &I 112. A 50 N sled E%sts on a horizontal
U% Sfce gae WX Rl 'g'é gl ol dl surface. A horizontal pull of 10 N 1s
i LS FE P Y 10 N & &fcs required just to start the sled
Régra @ SEeg®war el ol T qs moving. After motion is started,
e & 9% &9 @ Fad 37§ gaM only a S N force is needed to move
$ R $a@ 5 N a0 H EIHA the sled with a constant velocity.
B B St ok s g4 % The coefficient,of static and kinetic
Te
i = - friction are rgspectively :
ol A € R y
o)
(1) 0.10, 0.20 (1) 0.10, (].ZUF__:J*J
(2) 0.20, 0.10 % 2) 0.20,0.10
(3) 0.10,0.15 (3) 0.10,0.15
(4) 0.15, 0.20 (4) 0.15, 0.20
H X
[ Level-2 /5211 ] ;|;I'ir,é P.T.O.
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W o m
113. 09 X T ®HA 3 W o 113. An ionic tbmpound of elemen; y
B =l p.
qFE F gA MCl, MCl, and chlmne has formula M,
IR 118.5 Bl T X 3 oifqwres rhe moliuler mass of MCl,
pl STIHIT 941 B 7 118.5. What will be the moleculay
mass of oxide of element X ?
(1) 28 (2) 44 (1) 28 (2) 44

(3) 72 (4) 99 /(aﬁz v (4) 99

: -~
| ™~
114. TS F YA: @YY THA B frg 114. In which %art of the nephron does
T Bar g 7 glucose reabsorption take place ?
(1) TS (1) Glomerulus
(2) digdq %@@ (e FF’EE) /czyﬁnwman's capsule |
(3) GHIGET @“‘eﬁﬁ AfcTent (3) Proximal convoluted tubule i
(4) B # q (4) Loop of Henle
115. [hdl T@ & i £8¢ 1 CRA | £ SR %l 115. The atnrﬁ_}h: mass of an element is
e 9 i e 2 determlqed by the numberof ........
N
(1) A (Y Protang
(2) oAl (2) Electrons
(3) “ﬂ;ﬁﬁ (3) Neutrons
(4) AT (4) Nucleons

[ Level-2 /5211 ]
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116.

111.

118.

@ AN W S @ B
& ' W e 0.90 frl/AT @
ﬁﬁg“ﬂaﬁzﬁ[m%"ﬂz
¢ OR TEm A (pge = 0-178
Rl /AT) & w3 gam 31 AR TER A
Ul (bag) # WK 88 N B, A T
W W a8 fhagh ar (N #) @8 B
o § ?
(1) 34.9
(2) 176
(3) 53.1

(4) 141.9

D4977

(1) 100
(3) 173

(2) 86.6
(4) 115.5

[ Level-2 /5211 ] ﬂﬁﬁ
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116,

1117,

118.

[35/D]

A balloon operates at an altitude
where the air density is 0.90 kg/rna.
At this altitude, the balloon has a
volume of 20 m° and is filled with
helium (py, = 0.178 kg/m’). If the
weight of the balloon bag is 88 N,
the load (in N) it can support at this
level is :

(1) 34.9
(2)"176
(3) 53.1
(4) 141.9

Mucor is associated with :
(1) Phycomycetes

(2) Ascomycetes

(3) Basidiomycetes

(4) Deuteromycetes

A 200 N block rests on a frictionless
inclined plane of angle of
inclination 30°. A cord attached to
the block passes over a frictionless
pulley at the top of the plane is

attached to a second block. If the

system is in equilibrium, then the

weight of second block (in N)
approximately is :

(1) 100
(3) 173

(2) 86.6
(4) 115.5

Pl O
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r:2450M1;_r_zequﬁf%Hmﬁ—g‘a
TaHa TN § T @ Y eg
G F W FABX T F Ry gy
P A R 3 M sames
=6 & H R @

(1) 0.0438 T

(2) 0.0270 T

(@)
(3) 0.0877 TO
["--.

r-.._
(4) 0.05415 ™
T
-

120. f=fafeq sRot @, T=HH a7 @
SEIM HHAR | ardig (@
SUHTN § A (&) ga B =y §
fepar e 2

(i) 399 Ta9h I=T B 2
(i) 39 Sftgar s 2
(iti) T8 ST S & w2
7 faseq asr%m CTge
(1) 37w i) e (ii) wE ¥
(2) B9 (i) M (iii) e &)
(3) a9 (ii) 3T (iii) @& &
(4) F (i), (i) ST (iii) & T &

[ Level-2 /5011 ]

119. A magnetron in a microwave oven
emits electromagnetic wave with
frequency f = 2450 MHz. The
magnitude of the magnetic field
required for electron to move in

circular path with this frequency is :

(1) 0.0438T
(2) 0.0270 T

A
(3) 0.0877 T E&{

(4) 0.05415T

120. For the following  reasons,

Nichrome wire is generally used

as a heating element in heating

appliances :

(1) Its melting point is high.

(1) Its resistivity is high.

(11i) It does get oxidized easily.
Choose the correct option :

(1) Only (i) and (ii) are correct.

r_/(ﬂmlly (1) and (iii) are correct. {

(3) Only (i) and (iii) are correct. l

(4) Al (1), (i) and (iii) are incorrect.
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122, =iafag & @ fF-91 FEd &
fhteaig oTqe&q 78 2 7

(1) i
2) IwEe

(3) SIS

(4) GO

123, IUYE HSl @ a1 AiEd B et B
g @ frefafed ® @ @F-1 @
T 787 el © 7

(2) qrefiEn e
3) w=rd / fg
(4) WA B

[ Level-2 /5211 ]
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¥, [37/D]

121. Which of t@ following is nof

correctly mat&led ?
@)

(1) Methanug%s : Archaebacteria
(2) Nostoc : Eubacteria
(3) Euglenoids : Protista

(4) Sporozoans : Fungi

O)
L)

122, Which one Enat an crystalline

allotrope of c@mn ?
A

(1) Coal
(2) Graphite

(3) Diamond

—(¢)‘Pﬁﬁ§ene

123. Which of the following substance

@)
is not appliad) on the head of a
~

matchstick rr%de up of a suitable

<7
wood ? P
@/}(m‘ny trisulphide

(2) Potassium chlorate

(3) Starch
4

(4) Red phosphorus
R I Ox

(¥ Scanned with OKEN Scanner
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124.

126.

B T B Gl TT & R 7y
Bl & 7

(1) ST 1 G il B

(2) FRE R ¥ Tl ® o

dltan gl & fim S
il 2l

fhdl a%] 9 W< &Y 4 3@ & oy,

gfdfe= ferga
g9 =Nedl

(1) =
(2) $4q 9
(3) e

(4) =9 dfE

”

[ Level-2 /5211 ]

% WM W ‘

124.

i

during

Ll L,

What happens the Gl

phase of the cell cycle ?

(1) DNA is synthesized.

(2) The cell gm\% in size and
prepares for DEA replication.
o)

<
A

(3) Chromosomes ﬁlign at the

metaphase plate.

(4) The cell divides.

125. Which of the fﬂllo%ing is used In

126.

the location of the g

manufacturing of sEel ?
N
(1) Coke i

A
(2) Coal gas
(3) Coaltar

(4) Bitumen

o)
For an object to s[@n sharply, the
image must be fortned exactly at

(1) Cornea
(2) Sclera
(3) Retina

(4) Optic nerve

(¥ scanned with OKEN Scanner
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121.

128.

aﬁm—xﬂﬁqmwaﬁﬁﬂﬂm
PEE-IT § Ru mu 3 awEr A B

g, ?I{IEIEI‘—T IS
HieH-1 Hferm-11
A. Ofsa R ) el S
FEMT
B. Mie® offw Nfaryr iy daf A
calkeEL bl
C. &mMIEH fwgw (i) oo
D. & I (iv) 3Tid T
Eﬁﬁw%

(1) A-(iii), B-(iv), C-(ii), D-(1)
(2) A-(ii), B-(i), C-(ii1), D-(iv)
(3) A-(ii), B-(iii), C-(1), D-(1v)

(4) A-(iii), B-(i), C-(ii), D-(iv)

oo gihar § e W 7 @™
d ggq $ fu HE-a1 gered SuEeT o

AT & 7
(1) UgHIEH
2) IS
(3) P
(4) AT

[ Level-2 /5211 ]

127;

128.

-l:; -
iizﬁ [39/D]

Match the substances given in

L
Column-I which are useful in the

[ o
ofy those,

treatment given In
u;;]'i
Column-II (2
Column-I Column-I1I
A. Sodium hydrogen (i) Antsting

carbonate

B. Milk of Meigpesia (i) Fungal

L infection in
['-*-.

T plants

I:rl

C. Calamine B8lution (ii1) Antacid

D. Slaked lime (iv) Acidic soil
Correct option is :

(1) A-(iii), B-(iv), C-(ii), D-(i)

(2) A-(ii), B-(i), C-(iii), D-(iv)

(3) A-(ii), B-(iii), C-(i), D-(iv)

(4) A-(iii), B-(i), C-(ii), D-(iv)

@)
suﬁs?ance is

rljstm of
@) J

galvanisatiort: :ijrnc:ess ?

Which

prevent

used to

iron  1n

(1) Aluminium
(2) Zinc

(3) Copper

(&B\Mjlgnasium

2.1, 0.
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i

[40/D]
. fuedt orWEeRl SRR (SER)
eIt i FM S 7
(1) SEF Gy
(2) fafte dyag A
(3) TR GOl ~
£
(4) TGl Hedgol 3

130. soomangﬁraﬁWaﬂﬂﬁm
360 HI/A Bl 10" APS B R

wqmﬁfﬁaaﬁﬁﬁﬁxﬁwuﬁ%

49 FAial © ¢ f{)
Sy
@)

(1) 2x 2) n/2

(3) 7/3 (4) =

131. = & I9en & gl ¥ M=fiag &
9 $E-91 FUT Tel T8 & 7

(1) T % ol B qem O T
@8d 4 BIdl ol

N
L!

.

(2)%@%@'3@&%3%%16
qiﬂﬁﬁﬂ?ﬁ@‘cﬁ%l@
a

(3) ©HT T 99 T § &g Bl §

ST B Iid AR St B

(4) AG-IEEE F=I9¢ I FH
g9 el T F WY o W©

) I e 1
ke

129. What is the primary role of the 132

130.

131.

gmooth Endoplasmic Reticulym
(SER) 7

(1) Protein synthesis

m synthesis %

(3) Photosynthesis
(4) ATP synthesis

A wave of frequency 500 Hz hag 5
phase velocity of 360 mys. The .
difference

phase between  two

133
displacements at a certain point at 3

time 10~ sec apartis :
(1) 2n (2) n/2
(3) n/3 4) =«

Which of the following statement is

incorrect about state of matter ?
(1) The
between gas molecules is very
less. . 13¢
(2) Plasma super

eénergetic and super excited |
Particles,

force of attraction

consist of

(3) The plasma glows with af
Special colour depending on
the nature of the gas. |

(4) Bose-Einstein condensate i
formed by heating of gas of
eXtremely low density.
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132.

133.

134.

et & & 399w o AR
QNI T HE (waiius I
ﬁﬁﬁqﬂﬂ'ﬂ?ﬂﬁ]:

g o1 @l 8 2.5 H1 4 AT
T @1 aeel W A FfE &
g waad & 0% a9 faEra dn |

amqn  fEa oEds 9ff e
arfea ?

(1) 2.8D (2) 3.6 D

(3) 32D (4) 25D

[ Level-2 /5211 ]

[41/D]

132, Select the primary consumer from

133.

134.

their food chain. (choose the most
appropriate option) :
(1) chplanktcn, Grasshopper, Cow
Ty
(2) Birgs, Fishes, Woll
on

(3) Fhﬁoplankmn. Crass, Trees

(4) Man, Lion, Vulture

Which of the following is type of

sedimentary cycle ?
o
(1) Nitrogen, Carbon
o
(2) Niiﬂzgen. Sulphur
0
(3) Sulphur, Phosphorus

(4) Phosphorus, Carbon

Vijay is unable to focus on objects

closer than 2.5 m from his eyes.

Approximately what refractive
i

pnwerfshnuld his corrective lens

o
have 77,

(|
(1) 2.8D (2) 3.6D
(3) 3.2D (4) 25D

P.T.O
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135. WeeY TF MY ©
(1) Pb @I Sn @l
(2) Cu T Sn @l

(3) Cu Ul Zn %l

D497759

(4) Pb T Zn

136. e (Rame ©ge U8) 998 99 © .
i Sl ¥ | OF &, S W §

o
(1) e | E
2) § % 4 =
(3) for=Tred 4
(4) TSTeEd ¥

137. 260 Hi/Q & Wd H Tl 16 g
AN B TH el d UdA & ol

AMETH I, 99 g8 kel b TH
wifh H 12 T H U T A< &,

g
(@)
1) —9020 N Tp
(1) 3
o
(2) —4510 N o
e
(3) 9020 N
(4) 4510 N

=

[ Level-2 /5211 ]
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135. Solder is an alloy of :

136.

131.

(3) Cuand Zn

(4) Pb and Zn

“Sequoia (the giant redwood tree),

“one of the tallest tree species, 1s

(1) Pb and Sn

(2) Cu and Sn

associated with :

(1) Pteridophytes

(2) Tree fern
(3) Gymnosperms

(4) Anglosperms

The average force required to stop

a bullet of mass 16 g moving ata
speed of 260 m/s, when it
penetrates a block of wood to a

distance of 12 cm, is : |

(1) —=9020 N

(2) -4510N i
|

(3) 9020 N Vi

(4) 4510 N

[
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138. 9 AW & 70 Fmge o g@ ™A W

140.

[Level-2/5211]

HURT ¢ & ygg & g & &7
ﬁﬁgﬂwwwﬁ%uﬂ

et A o W gE ol
e & 3 q/)\
(1) omafs wag Q\ '
(2) SfaRa Ayq 3‘3&

(3) ST TN Ky

(4) T ST 0 N

(1) TEeErd
(2) STT:A=T SIfeTenm
(3) Tieell IYHI

b W |

(4) <IFH™ERE

TeAd HYA H A B
(1) ™89 8k co, A9 2ed 14 2

(2) SfEaq 'eﬁiléoﬂuw 7 9
‘:ITEI?TIT%I r-

(a)mﬁ;ua;haﬂﬁ%aﬁ:rmm
g e gl

(4) AT b FI B MEH $ fw
gt (3T6%) Hew@ye By
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139,

140.

[43/D ]

Name the method which is based
on fact that ovulation and thercfore
the cycle do not occur during the

intense lactation

period of

following parturition :

(1) Periodic abstinence

(2) Coitus interruptus

(3) Intra Uterine Devices (IUDs)

(4) Lactational amenorrhoea

Which of the following is involved
in the modification, sorting and

packaging of proteins ?

(1) Ribosomes

(2) Endoplasmic reticulum
(3) Golgi apparatus

(4) Lysosomes

Choose the incorrect statement :

(1) Methane and CO, are green

house gases.

(2) Dobson units measure noise in

environment.

(3) Montreal Protocol 1S

associated with ozone layer

depletion.

(4) Use of incinerators is crucial to

disposal of hospital waste.

. T. O.
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141. Frfifed. @l ¥ ¥ @9 @ | 141, Out of the following relation,
g @ gl H B T e ? which is not a solution of the one-
' dimensional wave equation ?
(1) y=x2+vzt2 o I. | (1) y=xz+vztz
@) y=x v ~ Ty (2)}’=X2-V2t2
r~ .
2 ‘ 2
@) y=@&+v) 3  q8) y = (x+v)
- S &
4) y=(x-vi)° (4) y = (x—vt)°
iy £
142. @AW M §as (FE-ag qeqm @)y 142. For refraction at a concave
AT FH ﬂT@f) W 9T & o spherical ~ surface (separating
giiferd & aread 81 & ol 9] H glass-air medium), the distance of
g e g Hl Tkl B § 2 the object should be greater than
AL q e ﬁ aied, 7 '’ times the radius of curvature of |
-4 .
HH 2 £ the refracting surface for the
|
= image to be real, the value of '7' is :
(1) 2 | (1) 2
3 3
2) — \ad
(2) > (2) -
2 | 2 s
02 O
(3) 3 (3) 3
(4) 3 (4) 3
143. TF HHadl @l RIS $ HE H AP 143. The middle zone of a candle flame
................ T FDA o g ol | is also called the zone of ..............
g combustion.
(1) @ 0 | (1) Spontaneous
(2) = | (2) Rapid
3) ot (3) Complete
(4) STAH (4) Partial

.I | l.l ]
[ Level-2 /5211 ] m
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144. 091 7 Q 9N qel ﬁﬁﬁ:[a e 7 144. Which n%ﬁthc following 1s no!
correctly i'[ft‘_atchecl ?
| : .
1 ' - Stripe rust resistance
(1) fenfrll : Ry we sk (1) Himgim .
(2) T4 @M : Afpe g (2) Pusa gfParnim : Aphids resistance
(3) T T Ufths gfcrieh (3) Pusa Gaurav : Aphids resistance
(4) T H°E : SFARTe wEe ' (4) Pusa Komal : Bacterial blight
4
145. Rgq S0 & P TETEE H | 145. The charagleristic texture of 'Swiss
BAEA| % e | Cheese' is[::lue to:
. :-..-’ m
(1) R (1) Lactob¥cillus
[
(2) JHATER @ (2) Saccharomyces
(3) SMfaRFEFREm ' | (3) Propionibacterium
OB EIGIERE (4) Penicillium
|
146. [=feRad §‘EI'-=[ ¥ g idsan e 146. Which of the following fuel has the
0 e § 7 highest calorific value ?
(1) Ugitel (2) Terdist (1) Petrol (2) LPG
(3) Hiewh (4) BRI (3) CNG ~4)y-Hydrogen
147, Frefgfed § @ F9-wW TEI @ 147. Which of the following is not caused
a@m’éﬂu g & POl 78 by the atmospheric refraction of
gar & ° light ?
(1) T F art @ e (1) ;Twinl%ng of stars at night.
2) T T ¥ ! araias R (2) Sun appearing higher in the
q ot Sar Ras ar B sky than it actually is.
(3) AR Qﬁaﬂ q a e ged (3) Sun becoming wisible two
‘{L'l HE(H 39 T el minutes before actual sunrise.
(4) ﬁﬂhﬁ & 994 ﬁ:d il ﬁ@l‘é (4) Sun appearing red at sunset.
e | -
[ Level-2 /5211 ] m Rl O,

. . @ Scanned with OKEN Scanner
For Study Material PDF& Notes Join Telegram Channel - @EXAMZY



[46/D] ﬁﬁ

148. Prefafag # & &A1 @ Sifg 148. Which of the following is nof a

sfar & Rsrear 787 & ? Eharacte?iﬁtic feature of all living
["'-.
organisrig ?
: =
(1) Suq=g (1) MetdBolism
(2) FW (2) Growth
(3) 914 (3) Reproduction
(4) SIS HETT | (4) Photosynthesis
m .
149. 1800 Q % IfY d aiceHey 149. A voltmfer with a resistance of
I 200 Q SERY W RAwarR 180090%;111:& used to measure the
e % e R ST dar g1 aiay potentia[difference across a 200 Q

Dl oA qfcRie i : resistor. Equivalent resistance of

circuit will be :

(1) 180 Q (2) 140 Q (1) 180 Q (2) 140 Q |
(3) 160 Q (4) 100 Q . (3) 160 Q (4) 100 Q I
150. 9 H Zd H GREfid HH & [T 150. Which of the following condition is
Frfafad & @ SM-d s/gen qaifs most fav#ﬁ:able for converting gas
ATHA & 7 into 1iqui§j?
(1) 9= g@, = a o _:(1) Highmpressure. low temperature
(2) =1 @, =1 ag E@ } I(2‘-) Low pressure, low temperature
3) =1 2@, 3= Ay (3) Low pressure, high temperature
(4) 3 T, IJ©d dg (4) High pressure, lﬁgh_temperah.lf!__ |

[ Level-2 /5211 ]
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